CURRENT PRODUCTS mode

1:GPS706

O O
suB-3 SUB-2 SUB-1 BOOTH 1
CURRENT,ING, TALKBACK BOX TALKBACK BOX TALKBACK BOX TALKBACK BOX
MODEL:GPS706 SN
oty @XXXXIXL @)
MADE IN JAPAN
AUDIO 14
1 O fnesinis) O
COUGH & SELECT TALKBACK BOX
o 0 fesssssnassd) o O (eassssssn) O
100VAC 2A
v2 Vi v2 Vi v2 Vi AUDIO 1-4
@ @ . . . . . .
e
BOOTH2
e O Q &

@3 2DV ARTLARL Yy F v —

@+ —7 1748 c hiifz

@®E T+ 2 c hifjifa

@25 DHIEEIBE -84 —F 1« AHi
®191>F3U

GPS706E32M03> Fa—JLIL—LT., 200
T—2&HATEEHODIATLALyF+—T. 8%
BOA—F 174, 2RHEDETFH, 25 HMELIE
F—F47F8chDyYHPERET T,

L FE T

GPS7060EFWHIZ)L—-ICXILEYE VYRTTOTHEST S
MR OMET 2B FRA £720 AL v F 07108274 b %L,
VTN ABIFEALEHTEET,

&1 rO-lb

GPS706nGHary ra—nid, HHEDORL v F ISR NVENSY
E— IV FE— VT ) OPBHEAART TS, T v a vy TARKT O
VISANVICAAL v FERDMHITEEH KT T,

@ HEfthLEE
GPS706REMVELT. 5T —AHMLOERETEIThTWD
ix. CoOHENENZMELZTUEASITERZ MR ERA
FZHEAND)E= T2 F—ICEHGHYD AL v F L5 =R
D2OPRATODLLEDY ) —%2MIILTVET,

L 2okl
BEIMBEDO Y AF AL v Fx—ICbBIBALETOTEMVED
LSV,

SPECIFICATIONS

@BOOTH 1,2 AUDIO: Dsub25-F(#4-40)

@BOOTH 1,2 CONT/AUDIO: Dsub25-F(#4-40)
&BOOTH 1,2 VIDEO: BNC 75Q x2

@CONTROL ROOM AUDIO: Dsub25-M(#4-40)
GCONTROL ROOM CONT/AUDIO: Dsub25-M(#4-40)
@CONTROL ROOM VIDEO: BNC 75Q) x2
@CONTROL ROOM 1,2,3 REMOTE: Dsub25-F(#4-40)
GCONTROL REMOTE TALLY: COMMON=+5VDC
@MAINS: 100VAC 50/60Hz, MAX=50W
@DIMENSIONS: 483Wx132.5Hx350D, 8kg

#IEXEEGPS706

IEAEAfIR:¥ 72 0,0 0 O(FA)

HES:ACH—TI

CURRENT,INC. 2-26-11 AKATSUTSUMI, SETAGAYA-KU, TOKYO, 156-0044 JAPAN
HRASHHL > b T156-0044 REERH AR X FR122-26-11 TEL:81-3-3321-9559 FAX:81-3-5376-2735

The specifications are subject to change without notice. LN BRI PHELLSEETIIEDNH D T TOTHON LD T TR ZE WV,
(¢)CURRENT,INC. www.crnt.co.jp & 2



GPS706 "BOOTH 1/2 Audio 1-4 ' Dsub25-F(#4-40)

Ribben | Hard Signal name Designation Active
1 1 1+ AUDIO 1 +
2 14 1- AUDIO 1 -
3 2 1G AUDIO 1 GND
4 15 2+ AUDIO 2 +
5 3 2- AUDIO 2 -
6 16 2G AUDIO 2 GND
7 4 3+ AUDIO 3 +
8 17 3- AUDIO 3 -
9 5 3G AUDIO 3 GND
16 18 4+ AUDIO 4 +
H 6 4- AUDIO 4 -
12 19 4G AUDIO 4 GND
13 7
14 20
15 8
16 21
17 9
18 22
19 10
20 23
21 11
22 24
23 12
24 25
25

13

oo oboobobooboobuoobobbobooboobon
CAUTION! D-Connector for wiring refer to Hard pin number Description.

Mounting screw for D-connector use #4-40 screw.

(¢)2004 CURRENT,INC.




GPS706 "BOOTH 1/2 Talkback Box ' Dsub25-F(#4-40)

Ribben | Hard Signal name Designation Active
1 1 MON 1L+ MONITOR 1L +
2 14 MON 1L- MONITOR 1L -
3 2 MON 1R+ MONITOR 1R +
4 15 MON 1R- MONITOR 1R -
5 3 MON 2L+ MONITOR 2L +
6 16 MON 2L- MONITOR 2L -
7 4 MON 2R+ MONITOR 2R +
8 17 MON 2R- MONITOR 2R -
9 5 FADER 1A COUGH FADER CONTACT 1A RELAY
10 18 FADER 1B COUGH FADER CONTACT 1B RELAY
H 6 FADER 2A COUGH FADER CONTACT 2A RELAY
12 19 FADER 2B COUGH FADER CONTACT 2B RELAY
13 7 TB SEND + TALKBACK SEND +
4 20 TB SEND - TALKBACK SEND -
15 8 TB RET + TALKBACK RETURN +
16 21 TB RET - TALKBACK RETURN -
17 9
18 22
19 10 TB SEND-B TB SEND LAMP
20 23 CALL-B CALL LAMP
21 11 CALL-S CALL SWITCH
22 24 TB RET-S TB RETURN SWITCH
23 12
24 25
25 13 GND GND

oo oboobobooboobuoobobbobooboobon
CAUTION! D-Connector for wiring refer to Hard pin number Description.

Mounting screw for D-connector use #4-40 screw.

(¢)2004 CURRENT,INC.



GPS706 "SUB 1-3 Audio 1-4 "' Dsub25-M(#4-40)

Ribben | Hard Signal name Designation Active
1 1 1+ AUDIO 1 +
2 14 1- AUDIO 1 -
3 2 1G AUDIO 1 GND
4 15 2+ AUDIO 2 +
5 3 2- AUDIO 2 -
6 16 2G AUDIO 2 GND
7 4 3+ AUDIO 3 +
8 17 3- AUDIO 3 -
9 5 3G AUDIO 3 GND
16 18 4+ AUDIO 4 +
H 6 4- AUDIO 4 -
12 19 4G AUDIO 4 GND
13 7
14 20
15 8
16 21
17 9
18 22
19 10
20 23
21 11
22 24
23 12
24 25
25 13

oo oboobobooboobuoobobbobooboobon
CAUTION! D-Connector for wiring refer to Hard pin number Description.

Mounting screw for D-connector use #4-40 screw.

(¢)2004 CURRENT,INC.




GPS706 '"'SUB 1-3 Cough&Select '' Dsub25-F(#4-40)

Ribben | Hard Signal name Designation Active
1 1 SW COM SWITCHES COMMON ov
2 14 LP COM LAMPS COMMON +5V
3 2 SW Al SUB-1 SELECT BOOTH-1 SWITCH LO
4 15 LP Al SUB-1 SELECT BOOTH-1 TALLY LO
5 3 SW A2 SUB-1 SELECT BOOTH-2 SWITCH LO
6 16 LP A2 SUB-1 SELECT BOOTH-2 TALLY LO
7 4 SW B1 SUB-2 SELECT BOOTH-1 SWITCH LO
8 17 LP BI SUB-2 SELECT BOOTH-1 TALLY LO
9 5 SW B2 SUB-2 SELECT BOOTH-2 SWITCH LO
10 18 LP B2 SUB-2 SELECT BOOTH-2 TALLY LO
11 6 SW Cl1 SUB-3 SELECT BOOTH-1 SWITCH LO
12 19 LPCl SUB-3 SELECT BOOTH-1 TALLY LO
13 7 SW C2 SUB-3 SELECT BOOTH-2 SWITCH LO
4 20 LPC2 SUB-3 SELECT BOOTH-2 TALLY LO
15 8
16 21
17 9
18 22
19 10
20 23
21 11
22 24
23 12
24 25
25 13

oo oboobobooboobuoobobbobooboobon
CAUTION! D-Connector for wiring refer to Hard pin number Description.

Mounting screw for D-connector use #4-40 screw.

(¢)2004 CURRENT,INC.



GPS706 "SUB 1-3 Talkback Box'' Dsub25-M(#4-40)

Ribben | Hard Signal name Designation Active
1 1 MON 1L+ MONITOR 1L +
2 14 MON 1L- MONITOR 1L -
3 2 MON 1R+ MONITOR 1R +
4 15 MON 1R- MONITOR 1R -
5 3 MON 2L+ MONITOR 2L +
6 16 MON 2L- MONITOR 2L -
7 4 MON 2R+ MONITOR 2R +
8 17 MON 2R- MONITOR 2R -
9 5 FADER 1A COUGH FADER CONTACT 1A RELAY
10 18 FADER 1B COUGH FADER CONTACT 1B RELAY
H 6 FADER 2A COUGH FADER CONTACT 2A RELAY
12 19 FADER 2B COUGH FADER CONTACT 2B RELAY
13 7 TB SEND + TALKBACK SEND +
4 20 TB SEND - TALKBACK SEND -
15 8 TB RET + TALKBACK RETURN +
16 21 TB RET - TALKBACK RETURN -
17 9
18 22
19 10 TB SEND-B TB SEND LAMP
20 23 CALL-B CALL LAMP
21 11 CALL-S CALL SWITCH
22 24 TB RET-S TB RETURN SWITCH
23 12
24 25
25 13 GND GND

oo oboobobooboobuoobobbobooboobon
CAUTION! D-Connector for wiring refer to Hard pin number Description.

Mounting screw for D-connector use #4-40 screw.

(¢)2004 CURRENT,INC.






